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Allineamento	
  locale	
  

F(i, j) =max

0
F(i!1, j !1)+ s(xi, yj ) )
F(i!1, j)! d
F(i, j !1)! d
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$

(

$
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Allineamento	
  con	
  penalizzazione	
  affine	
  
delle	
  gap	
  

F(i, j) =max

F(i!1, j !1)+ s(xi, yj ) )
F(i!1, j)! d
F(i, j !1)! d
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F(i, j) =max

F(i!1, j !1)+ s(xi, yj ) )
F(k, j)+! (i! k) k = 0,...,i!1

F(k, j)+! ( j ! k) k = 0,..., j !1
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'
$

(
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Acidi	
  nucleici	
  
A	
   T	
   C	
   G	
  

A	
   1	
   0	
   0	
   0	
  

T	
   0	
   1	
   0	
   0	
  

C	
   0	
   0	
   1	
   0	
  

G	
   0	
   0	
   0	
   1	
  

A	
   T	
   C	
   G	
  

A	
   1	
   -­‐4	
   -­‐4	
   0	
  

T	
   -­‐4	
   1	
   0	
   -­‐4	
  

C	
   -­‐4	
   0	
   1	
   -­‐4	
  

G	
   0	
   -­‐4	
   -­‐4	
   1	
  



	
  	
  

Sequenza	
  query	
  -­‐>	
  Banca	
  daF	
  di	
  qualche	
  decina	
  
di	
  milioni	
  di	
  sequenze	
  (16.886.838)	
  
	
  
Allieamento	
  con	
  ciascuna	
  sequenza	
  e	
  calcolo	
  del	
  
punteggio	
  
	
  
Valutazione	
  della	
  significaFvita’	
  staFsFca	
  del	
  
punteggio.	
  



s(a,b)	
  score	
  per	
  a,b	
  ε	
  A	
  
	
  
Con	
  E(s(a,b))<0	
  
E	
  s*=max(s(a,b))>0	
  
	
  
Si	
  puo’	
  dimostrare	
  che	
  
	
  
	
  

lim
n!"

s = lnn
2

!
E(e!s(a,b) ) =1
qa,b = papbe

!s(a,b)



Se	
  conosco	
  la	
  distribuzione	
  di	
  background	
  P	
  degli	
  amino	
  
acidi	
  nella	
  banca	
  daF,	
  posso	
  oZenere	
  λ:	
  

papbe
! s(a,b)

a,b
!

Da	
  cui	
  p	
  (s>mio	
  score)	
  
	
  
s(a,b)	
  segue	
  la	
  distribuzione	
  dei	
  valori	
  estremi,	
  nel	
  qual	
  caso:	
  
	
  
	
   prob(s ! x) "1#exp(#e#! (x#u) )

u = lnKmn
!





1! e! a " a per a piccolo

exp(! e! ! (x! u) ) piccolo se x grande

prob(s # x) " 1! exp(! e! ! (x! u) ) diventa

prob(s # x) " e! ! (x! u) = e! ! xe! u

u = lnKmn
!

prob(s # x) = Kmne! ! x

E = KNne! ! x



Altro	
  approccio:	
  z-­‐score	
  

zscore(s) = S !µ
!



Valutazione	
  dell’efficacia	
  

Fp	
   fn	
  

0	
   3	
  

0	
   2	
  

1	
   2	
  

1	
   1	
  

1	
   0	
  

2	
   0	
  

3	
   0	
  

4	
   0	
  



FN	
  

FP	
  

TP	
  

D	
  

F	
  

S	
  

tp= S! F

fp= S!F

fn= F!S

tn= D!(F " S)



accuracy = tp+ tn
tp+ tn+ fp+ fn

sensitivity = tp
tp+ fn

spcificity = tn
tn+ fp

precision = tp
tp+ fp

errore = fp
tp+ fp

=1= precision



Curva	
  ROC	
  









BLAST	
  








